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BOOKS - TARGET CHEMISTRY (HINGLISH)

p-BLOCK ELEMENTS

Classical Thinking

1. The general valence shell electronic configuration

of p-block elements is

A ns2np1 —2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bF9mgYXRulSh

B. nsznpl_5

C. nsznp1 -4
D. ns2np_ 16
Answer: D

o Watch Video Solution

2.Indian salt petre is

A. NCLNO2

B. NCLNO3

C. KNO,


https://dl.doubtnut.com/l/_bF9mgYXRulSh
https://dl.doubtnut.com/l/_ar4PHAKY6EOl

D. KNOs

Answer: D

° Watch Video Solution

3. The density of highest among the group

15 elements .

A. phosphorus

B. arsenic

C. antimony

D. bismuth


https://dl.doubtnut.com/l/_ar4PHAKY6EOl
https://dl.doubtnut.com/l/_OahrAoXAXIc4

Answer: D

° Watch Video Solution

4, The P - P —- P bond

phosphorous is

A.120°

B.90°

C.60°

D.109° 28’

Answer: C

angle

in

white



https://dl.doubtnut.com/l/_OahrAoXAXIc4
https://dl.doubtnut.com/l/_ckUf0NlB0VAC

l ) Watch Video Solution J

5. Which of the following statements are not correct

about the hydrides of Group 15 elements?

A. The hydrides of the elements of group 15 are

ionic.

B.The thermal stability of the hydrides

decreases down the group.

C. The basic character of the hydrides decreases

down the group.


https://dl.doubtnut.com/l/_ckUf0NlB0VAC
https://dl.doubtnut.com/l/_jINTzmVzYhZf

D. The reducing nature of the hydrides increases

down the group .

Answer: A

° Watch Video Solution

6. The correct sequence of decrease in the bond

angles of the following hydrides is

A. NH3 > PH3 > A8H3 > Sng

B.NH3 < ASHg > PH3 > Sng

C. Sng > A8H3 > PH3 > NH3


https://dl.doubtnut.com/l/_jINTzmVzYhZf
https://dl.doubtnut.com/l/_pqlvrDNJrRpt

D. PH3 > NH3 > ASH3 > SbH3

Answer: A

o Watch Video Solution

7. Pure nitrogen is prepared in the laboratory by

heating a mixture of

A.NH,Cl + NaOH

B.NH,OH + NaCl

C. NH4CZ + NCLNOg

D. NH,NO, + NaCl


https://dl.doubtnut.com/l/_pqlvrDNJrRpt
https://dl.doubtnut.com/l/_bOzxDn05miFs

Answer: C

° Watch Video Solution

8. The low reactivity of nitrogen is due to

A. small atomic radius

B. high electronegativity

C. stable configuration

D. hogh bond dissociation energy

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bOzxDn05miFs
https://dl.doubtnut.com/l/_urKut5lVyeby

9. The products obtained on hydrolysis of calcium

cyanamide with super heated steam are

A. CCLCO?, + N2
B. CCLCO3 + NH3
C. CCLO ‘|‘ NH3

D. CG(OH)2 + 002

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_urKut5lVyeby
https://dl.doubtnut.com/l/_9RNrc21sMrtH

10. In Haber's process for the manufacture of

ammonia, the catalyst used is finely divided

A. nickel

B. molybdenum

C.iron

D. platinum

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8ui4ArvSzVRq

11. A mixure of ammonia and air at about 800°C in

the presence of Pt gauze forms

A. N;O

B.NO

C. NH,OH

D. N2O3

Answer: B

° Watch Video Solution

12. Nessler's reagent is :


https://dl.doubtnut.com/l/_I30yGWGTWb3y
https://dl.doubtnut.com/l/_NU9tcpdaZdMD

A. K2H9I4
B. NCL3 [AZ(OH)6]
C. I-Hg-O-Hg |

D.HyN — Hg— O — Hg—1

Answer: A

° Watch Video Solution

13. Ammonium salts give a brown precipitate with

Nessler's reagent due to the formation of

A. iodine of Nessler's base


https://dl.doubtnut.com/l/_NU9tcpdaZdMD
https://dl.doubtnut.com/l/_PtFIGSEIBk2C

B. iodine of Millon's base

C. ammonium mercuric iodine

D. ammonium iodine

Answer: B

° Watch Video Solution

4. HNOj3(og) + H20 (1) — H30 .y + NOj,

The above reaction is called as

A. hydrogenation

B. halogenation

(aq)


https://dl.doubtnut.com/l/_PtFIGSEIBk2C
https://dl.doubtnut.com/l/_tnSEvnl8w4YJ

C. autoionization

D. deionization

Answer: C

° Watch Video Solution

15. Which of the following oxides of nitrogen

combines with Fe(ll) ions to form a brown complex ?

A. N;O

B.NO

C. N,Oq


https://dl.doubtnut.com/l/_tnSEvnl8w4YJ
https://dl.doubtnut.com/l/_3m8aB0H693f8

D. N,O:

Answer: B

o Watch Video Solution

16. Which of the following is INCORRECT for N5O ?

A. It is called laughing gas.

B. It has two resonating structures.

C. It is a non-linear molecule.

D. It is diamagnetic

Answer: C


https://dl.doubtnut.com/l/_3m8aB0H693f8
https://dl.doubtnut.com/l/_BEauQ1Z5UX6v

° Watch Video Solution

17. Nitric acid is used in the manufacture of

A. fertilizers

B. sulphuric acid

C.TN.T

D. all of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BEauQ1Z5UX6v
https://dl.doubtnut.com/l/_w97plEg2JhUK

18. In which of the following oxides N has +5

oxidation state ?

A. N;O

B. NO,

C. N203

D. N2O5

Answer: D

° Watch Video Solution

19. Dinitrogen tetraoxide (N,O,) has


https://dl.doubtnut.com/l/_doJluas7gqDw
https://dl.doubtnut.com/l/_xZr3afLPhnlL

A. two unpaired electrons and its paramagnetic

B. four unpaired electrons and is paramagnetic

C.one unpaired electron and is paramagmetic

D. no unpaired electron and is diamagnetic

Answer: D

o Watch Video Solution

20. The element which catches fire in air at 30°C

and is stored under water is

A. calcium


https://dl.doubtnut.com/l/_xZr3afLPhnlL
https://dl.doubtnut.com/l/_1pFvZ0NTRswT

B. sodium

C. white phosphorus

D. zinc

Answer: C

o Watch Video Solution

21. Of the different allptropes of phosphorus the

one which is most reactive is

phorphorus.

A. red


https://dl.doubtnut.com/l/_1pFvZ0NTRswT
https://dl.doubtnut.com/l/_ctjc4MaFMIqP

B. a-black

C. white

D. 3 black

Answer: C

o Watch Video Solution

22. White phosphorus may be removed from red

phosphorus by

A. sublimation

B. dissolving in C'S


https://dl.doubtnut.com/l/_ctjc4MaFMIqP
https://dl.doubtnut.com/l/_uIw5pRZcg48r

C. distillation

D. heating with HCl solution

Answer: B

° Watch Video Solution

23.Red phorphorus is prepared by carefully heating

yellow phosphorus . A catalyst used in the reaction
A. oxygen

B. nitrogen


https://dl.doubtnut.com/l/_uIw5pRZcg48r
https://dl.doubtnut.com/l/_BL0JCsRjZwJf

C.iodine

D. carbon

Answer: C

° Watch Video Solution

24. Why is red phosphorus less reactive than white

phosphorus ?

A. highly polymerised structure

B. higher ignition point

C. higher density


https://dl.doubtnut.com/l/_BL0JCsRjZwJf
https://dl.doubtnut.com/l/_NPFqbqBVrOOV

D. insolubility in carbon sisulphide

Answer: A

o Watch Video Solution

25. Mixture used in Holme's signal is

A. CaC5 and CaCl, in water

B. CaCly and Cas P, in water

C. CaC5 and Cas N, in water

D. CaCy and CasP5 in water

Answer: D


https://dl.doubtnut.com/l/_NPFqbqBVrOOV
https://dl.doubtnut.com/l/_yc1RRUxkDzU3

° Watch Video Solution

26. When white phosphorus (FPy) is treated with

thionyl chloride, the products obtained

A PCl3 and PCl5

B. PCl3 and POClg

C. PCl3, SgCl2 and SO2

D. PCl3, PCl5 and SzClQ

Answer: C

are

° Watch Video Solution



https://dl.doubtnut.com/l/_yc1RRUxkDzU3
https://dl.doubtnut.com/l/_oiazD2XQ2zaN

27. Hydrolysis of phosphorus pentachloride results

in the formation of

A. phosphorus acid

B. pyrophosphoric acid

C. hypophosphoric acid

D. orthophosphoric acid

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oiazD2XQ2zaN
https://dl.doubtnut.com/l/_8HcpeCCeh0ay

28. Phosphorous has the oxidation state of +3 in:

A. orthophosphorus acid

B. hypophosphoric acid

C. orthophosphoric acid

D. polymetaphosphoric acid

Answer: A

o Watch Video Solution

29. Which one of the following pairs is not correctly

matched ?


https://dl.doubtnut.com/l/_hkG7WHbm2Zya
https://dl.doubtnut.com/l/_7ETTD7HoFRUA

A le

B. s

C. e

D. s

Answer: D

° Watch Video Solution

30. Which one of the following is pyrophosphoric

acid ?

A H3 PO,


https://dl.doubtnut.com/l/_7ETTD7HoFRUA
https://dl.doubtnut.com/l/_8JfkkehrfYwX

B. H,P,0-

C. H,P,O:

D. H3 PO;

Answer: B

o Watch Video Solution

31. Which of the following oxyacids of phosphorus is

a reducing agent and monobasic?

Al

B. s


https://dl.doubtnut.com/l/_8JfkkehrfYwX
https://dl.doubtnut.com/l/_UcGWaX9uXRqU

C. L.

D. Lo

Answer: B

° Watch Video Solution

32. Group 16 element (except polonium ) are called
chalcogens because
A.these elements , particularly sulphur and

oxygen are present in many metallic ores,

manily as oxides and sulphides.



https://dl.doubtnut.com/l/_UcGWaX9uXRqU
https://dl.doubtnut.com/l/_aQ0A0mB0GQ5d

B.a large number of acids contain these

elements, particularly sulphur and oxygen .

C. these elements manily form anoins.

D.these elements exist in different allotropic

forms.

Answer: A

° Watch Video Solution

33. occurs in nature as a decay product of

thorium and uranium minerals .


https://dl.doubtnut.com/l/_aQ0A0mB0GQ5d
https://dl.doubtnut.com/l/_fAzW6kEOdcbI

A. Bismuth

B. Polonium

C. Lead

D. Radon

Answer: B

° Watch Video Solution

34. The first ionization energies of the lighter

elements of group 16 are those of group 15

elements.


https://dl.doubtnut.com/l/_fAzW6kEOdcbI
https://dl.doubtnut.com/l/_g1sO4zbdwN03

A. as same as

B. greater than

C. lower than

D. twice as

Answer: C

o Watch Video Solution

35. The increasing thermal stability of the hydrides

of group 16 follows sequence

A. HQO < HQS < HzSB < H2T€


https://dl.doubtnut.com/l/_g1sO4zbdwN03
https://dl.doubtnut.com/l/_f5eJZOsf5l5j

B. HyTe < HySe < HyS < H,0

C. HQS < HQO < HQSG < HzTe

D. H25'e < HQO < HQSG < H2T€

Answer: B

° Watch Video Solution

36. Which would quickly absorb oxygen?

A. Alkaline solution of pyrogallol

B. Concentrated H,50,

C. Lime water


https://dl.doubtnut.com/l/_f5eJZOsf5l5j
https://dl.doubtnut.com/l/_8uQPYKBCGC29

D. Alkaline solution of CuSO,

Answer: A

o Watch Video Solution

37. Which of the following gases present in air to

protects life on the earth from the harmful effects

of ultraviolet from the sun ?

A. oxygen

B. nitrogen

C.Ozone


https://dl.doubtnut.com/l/_8uQPYKBCGC29
https://dl.doubtnut.com/l/_DTEbnXcDGi2X

D. Sulphur

Answer: C

o Watch Video Solution

38. Ozone is obtained from oxygen

A. the action of electric discharge

B. oxidation at higher temperature

C. oxidation in the presence of catalyst

D. oxidation at low temperature and pressure

Answer: A


https://dl.doubtnut.com/l/_DTEbnXcDGi2X
https://dl.doubtnut.com/l/_e6WsI3om1XWd

° Watch Video Solution

39.0zone is a

A. deep red liquid

B. dehydrating agent

C. sweet smelling gas

D. strong oxidising agent

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_e6WsI3om1XWd
https://dl.doubtnut.com/l/_FoylQO3pssgo

40. Which of the following is INCORRECT ?

A. O, is weaker oxidant than O;

B. Oy has small bond length than O;

C.Both O, and Oj are paramagnetic

D. O, is linear and Oj is angular in shape.

Answer: C

o Watch Video Solution

41. Which of the following statements about

sulphur is INCORRECT ?


https://dl.doubtnut.com/l/_B9mr6btzFGrS
https://dl.doubtnut.com/l/_qnsd0MtyUGnj

A. Sulphur exists as octaatomic Sg molecule with

puckered ring structure.

B.In Sg molecule, each atom undergoes sp;

hybridization involving both bonding and non-

bonding pairs of electrons.

C. There are two single covalent bonds and two

lone pairs of electrons associated with each S

atom and Sg molecule.

D. The S-S-S bond angle in Sg molecule is 90°.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qnsd0MtyUGnj

42. Copper turnings when heated with

concebtracted sulphuric acid will give

A. SO,

B. SO;

C.H,S

D. O,

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qnsd0MtyUGnj
https://dl.doubtnut.com/l/_zuc2PW2E70mW

43. SO, gas may be produced by

A. burning S in absence of air
B. roasting ZnS
C. heating Fe3(S0,),

D. hydrolyzing NaySO,

Answer: B

o Watch Video Solution

44. S0, in moist condition behaves as



https://dl.doubtnut.com/l/_UQ8RijEjzPbS
https://dl.doubtnut.com/l/_u5z0su6JVIkP

A. oxidising

B. reducing

C. bleaching

D. both (B) and (C)

Answer: D

° Watch Video Solution

45. Which of the following is called as sulphuric

anhydride ?

A H,5,0,


https://dl.doubtnut.com/l/_u5z0su6JVIkP
https://dl.doubtnut.com/l/_TStLU9xTKBNx

B. H25203

C. SO,

D. SO3

Answer: D

o Watch Video Solution

46. Which of the following is called for the

absorption of SOj; is

A.98% H,S0,

B.80% H,S0,


https://dl.doubtnut.com/l/_TStLU9xTKBNx
https://dl.doubtnut.com/l/_qmsA5EKRzTeR

C.20% oleum

D.90% H,50,

Answer: A

° Watch Video Solution

47. Which one of gas dissolves in HySO, to give

oleum?

A. SO,

B. H,S

C.S


https://dl.doubtnut.com/l/_qmsA5EKRzTeR
https://dl.doubtnut.com/l/_xxDFmsOFA7zL

D. SO;3

Answer: D

o Watch Video Solution

48. The catalyst used in the manufacture of

sulphuric acid by contact process is

A. Finely divided iron

B. molybdenum

C. Nitrous oxide

D. Vanadium pentoxide


https://dl.doubtnut.com/l/_xxDFmsOFA7zL
https://dl.doubtnut.com/l/_xHs3PLkzbdG6

Answer: D

° Watch Video Solution

49, Lead chamber process is used to manufacture

A HNO;

B. SO,

C. H,50,

D. H3 PO,

Answer: C



https://dl.doubtnut.com/l/_xHs3PLkzbdG6
https://dl.doubtnut.com/l/_jvItoyzXX9Rv

| ) Watch Video Solution

50. What is INCORRECT about H,SO, ?

A. It is areducing agent.

B. It is a dehydrating agent.

C. It is a sulphonating agent.

D. It is a highly viscous.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jvItoyzXX9Rv
https://dl.doubtnut.com/l/_VaTDQIkjmU4N

51. H, 50, is highly viscous due to

A. its affinity for water

B. hydrogen bonding

C. its oxidising nature

D. its reducing nature

Answer: B

o Watch Video Solution

52. The oxoacid of sulphur containing S=S bond is


https://dl.doubtnut.com/l/_Jzn0BaMYC4pC
https://dl.doubtnut.com/l/_Ri6MFV8OLTSW

A. thiosulphurous

B. pyrosulphurous

C.dithionous

D. dithionic

Answer: A

° Watch Video Solution

53. Sea weeds are important source of

A F

B. I


https://dl.doubtnut.com/l/_Ri6MFV8OLTSW
https://dl.doubtnut.com/l/_lwBdH9DdqMXY

C.Br

D.Cl

Answer: B

° Watch Video Solution

54. Which of the following statements about the

halogen is INCORRECT ?

A. They are all diatomic and form univalent ions.

B. They are all diatomic and form divalent ions.

C. All show variable oxidation state.


https://dl.doubtnut.com/l/_lwBdH9DdqMXY
https://dl.doubtnut.com/l/_uhtDzBHoa9IL

D.All possess low melting point and boiling

point

Answer: B

° Watch Video Solution

55. Which among the following statements is

INCORRECT ?

A.The atomic radius of a halogen atom is the

smallest in its period.


https://dl.doubtnut.com/l/_uhtDzBHoa9IL
https://dl.doubtnut.com/l/_slMCEbDtciC0

B. Halogens liberate minimum heat by gain of
electrons as compared to the elements in the
corresponding periods.

C. All halogens are coloured

D. Density of halogens increases on moving

down the group.

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_slMCEbDtciC0

56. Which of the following properties increases on

going down from F to | in group 17 of the periodic

table ?

A. Electronegativity

B. Volatile nature

C. Melting point

D. Oxidising power

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_u0JDYQc6qZWk

57. Choose the CORRECT statement.

A. Chlorine is insoluble in water.

B. lodine is a solid

C.lodine is more reactive than bromine.

D. Bromine is more reactive than chlorine.

Answer: B

o Watch Video Solution

58. Hydrogen fluoride is a liquid unlike other

hydrogen halides because


https://dl.doubtnut.com/l/_YSoFdILXCv6V
https://dl.doubtnut.com/l/_E7D5RFi4RKI1

A. f atom is small in size

B. HF is a weakest acid

C. HF molecules are hydrogen bonded

D. Fluorine is highly reactive

Answer: C

o Watch Video Solution

59. Which of the following pairs is not correctly

matched ?


https://dl.doubtnut.com/l/_E7D5RFi4RKI1
https://dl.doubtnut.com/l/_4c719vjLWtz2

A.A halogen which is liquid at room

temoperature -Bromine.

B. The most electronegative element -fluorine.

C. The most reactive halogen-Fluorine

D. The strongest oxidising agent-lodine.

Answer: D

° Watch Video Solution

60. The catalyst used in Deacon's process is :

A.Pd


https://dl.doubtnut.com/l/_4c719vjLWtz2
https://dl.doubtnut.com/l/_5BP9FZewxmBs

B. AlCI;

C. Vo054

D. C’U,Clg

Answer: D

o Watch Video Solution

61. Deacon's process is used in the manufacture of

A. ammonia

B. sulphuric acid


https://dl.doubtnut.com/l/_5BP9FZewxmBs
https://dl.doubtnut.com/l/_IjAZeFY226V2

C. nitric acid

D. chlorine

Answer: D

° Watch Video Solution

62. Chlorine gas is not produced by heating:

A. electrolysis of aqueous solution of Nacl

B. action of conc. HCl on MnQO,

C. evaporation of sea water


https://dl.doubtnut.com/l/_IjAZeFY226V2
https://dl.doubtnut.com/l/_YWEFVLOf0bVp

D.action of conc. Hy80,; on NaCl in the

presence of MnQ.,.

Answer: C

° Watch Video Solution

63. Chlorine acts as a bleaching agent only in the

presence of

A.dry air

B. moisture

C. nitrogen


https://dl.doubtnut.com/l/_YWEFVLOf0bVp
https://dl.doubtnut.com/l/_3ElODbbdA4Si

D. pure oxygen

Answer: B

° Watch Video Solution

64. Bleaching action of Bleaching powder is due to

the liberation of

A. O,

B. [O]

D. [C1]


https://dl.doubtnut.com/l/_3ElODbbdA4Si
https://dl.doubtnut.com/l/_5GhzxIZ9K7hy

Answer: B

o Watch Video Solution

65. When chlorine is passed over dry slaked lime at

room tempreture, the main reaction product is

A. Ca(CL02)2
B. CCI,CZQ
C.CaOCl,

D. Ca(OCl,),

Answer: C



https://dl.doubtnut.com/l/_5GhzxIZ9K7hy
https://dl.doubtnut.com/l/_iMIoMEfAp6xY

| ) Watch Video Solution

66. Fuming hydrochloric acid contains about

acid.

A. 100 %

B.73 %

C.37%

D.90 %

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iMIoMEfAp6xY
https://dl.doubtnut.com/l/_e8UXqpdVFUhg
https://dl.doubtnut.com/l/_bY2EDf3aUpGw

67. Which of the following is not the characteristic

of interhalogen compounds?

A. Covalent nature

B. Volatile but not explosive

C.Form addition products with unsaturated

hydrocarbons

D. Behaves as strong reducing agent.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bY2EDf3aUpGw

68. How many lone pair of electrons are present on

chlorine in ClF5 molecule ?

A.O

B.1

C.2

D.3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NAAddWcb1yrQ

69. Which of the following interhalogens does not

exist ?

A. CIF

B. CIF,

C. BTF5

D. ICI;

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lXuUwqvQhI9y

70. Which of the following compounds is used to

determine the amount of carbon monoxide ?

A. 1205

B. ICI

C.CIF,

D. BTF3

Answer: A

° Watch Video Solution

71. The most stable oxyacid of chlorine is


https://dl.doubtnut.com/l/_AG3gYquEejf7
https://dl.doubtnut.com/l/_ikgyRmNbErwQ

A . HCIO < HOCIlO9 < HOCIO3 < HOCIO

B. HCIO < HOCIO < HOCIO9 < HOCI4

HOCIO, < HOCIO, < HOCIO < HOCIO

D. HOCIO3 < HCIO < HOCIO3 < HOCIO,

Answer: B

° Watch Video Solution

72. Which one of the following is the strongest

oxidising agent /


https://dl.doubtnut.com/l/_ikgyRmNbErwQ
https://dl.doubtnut.com/l/_jPQqP0skfFGq

A. HOCI

B. HCIO,

C. HCIO;

D. HCIO,

Answer: A

° Watch Video Solution

73. is formed in the air mostly by electron

capture of potassium.

A. Helium


https://dl.doubtnut.com/l/_jPQqP0skfFGq
https://dl.doubtnut.com/l/_xByIAlhhpPPa

B. Neon

C. Argon

D. Krypton

Answer: C

o Watch Video Solution

74. Radon is obtained from the decay of radium

(T/F)

A. Neon

B. Krypton


https://dl.doubtnut.com/l/_xByIAlhhpPPa
https://dl.doubtnut.com/l/_vbt5ZbovAPTl

C. Xenon

D. Radon

Answer: D

° Watch Video Solution

75. Select the INCORRECT statement about inert

gases.

A.The ionization enthalpy of each inert gas is

the highest in its period.


https://dl.doubtnut.com/l/_vbt5ZbovAPTl
https://dl.doubtnut.com/l/_f7gLAKs8eqPM

B.Inert gases have large negative values of

electron gain enthalpy.

C. The atomic radii of inert gases are larger than
those of halogens.

D. All the inert gases are monatomic in nature.

Answer: B

° Watch Video Solution

76. Which of the following inert gases has the

highest ionization energy ?


https://dl.doubtnut.com/l/_f7gLAKs8eqPM
https://dl.doubtnut.com/l/_3nXtTXWrPCwN

A. He

B. Ne

C.Ar

D. Kr

Answer: A

o Watch Video Solution

77. Which of the following is most polarised among

noble gases ?

A. Kr


https://dl.doubtnut.com/l/_3nXtTXWrPCwN
https://dl.doubtnut.com/l/_UBJAWnCpebwU

B. He

C. Ar

D. Xe

Answer: D

o Watch Video Solution

78. The ease of liquefaction of noble gases

decreases in the order

A.He > Ne > Ar > Kr > Xe

B. Xe > Kr > Ar > Ne > He


https://dl.doubtnut.com/l/_UBJAWnCpebwU
https://dl.doubtnut.com/l/_ZuHEhEcuBD4L

C.Kr > Xe > He > Ar > Xe

D.Ar > Kr > Xe > He > Ne

Answer: B

° Watch Video Solution

79. The inert gas with highest heat of vaporization is

A. helium

B. neon

C. xenon


https://dl.doubtnut.com/l/_ZuHEhEcuBD4L
https://dl.doubtnut.com/l/_CNAf7qoR0y8X

D. radon

Answer: D

° Watch Video Solution

80. Noble gases can diffuse through

A. glass

B. rubber

C. plastic

D. all of these

Answer: D


https://dl.doubtnut.com/l/_CNAf7qoR0y8X
https://dl.doubtnut.com/l/_RC5AKvdhD22F

° Watch Video Solution

81. Argon is used

A. gas cooled nuclear reactors

B. gas chromatography

C. detection of gamma particles

D. photographing the interior of steel casting

and other opaque materials

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RC5AKvdhD22F
https://dl.doubtnut.com/l/_kEKx1AookA60

82. Liquid is used in laboratories for the

detection of mesons and gamma photons.

A. Helium

B. Neon

C. Xenon

D. radon

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aP3xENAjiIR0

83. The radioisotope used in the treatment of cancer

IS

A. Helium

B. Argon

C. Xenon

D. Radon

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_RZpLVAlfM33O

84. Which of the following elements does NOT form

stable diatomic molecules ?

A. lodine

B. Phosphorus

C. Chlorine

D. Oxygen

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_r5lPMXPIb66N

85. Which one of the following does not undergo

hydrolysis?

A. ASCl3

B. SbCl,

C. PCl;

D. NF;

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_j6ouoWnTnSzo

86. On heating MnQO, with hydrochloric acid,
scheele prepared oxymuriatic gas. This gas was later

renamed as

A. hydrogen

B. oxygen

C. Chlorine

D. ozone

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_C6rRkxHL0cx8

Critical Thinking

1. The element that does not exhibit allotropy is

AP

B. Bi

C.Sb

D. As

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GKEaQ32rZSfi

2. Which of the following is INCORRECT about large

scale preparation of nitric acid by Ostwald's process
?
A. Oxidation is carried out by using atmospheric
oxygen
B. The catalyst used is Pt / Rh gangue catalyst.
C. Temperature used is 500 K.

D. N,Oj5 is formed as a by product.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Pz83TgSuCwO2

3. Concentrated H NOj reacts with I, to give :

A HI

B. HOI

C. HOIO,

D. HOIO;

Answer: C

o Watch Video Solution

4. In which of the following reactions does nitric

acid acts as an oxidising agent ?


https://dl.doubtnut.com/l/_vBjLp01rUddf
https://dl.doubtnut.com/l/_ovfDoNaAFSAh

A.CuO + 2HNO;3; — Cu(NOs), + H,O

Nay,CO3 +2HNQO3 — 2NaNO3 + CO, + H5,0

D. NaOH + HNO; — NaNO; + H,0O

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ovfDoNaAFSAh

5. Which pair of oxides of nitrogen is paramagnetic

?
A. NO, N,O
B. N205, N204
D. NO, NO,
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9ctPvIQIXANM

6. In the catalytic oxidation of ammonia an oxide is

formed which is used in the preparation of HNOjs.

This oxide is

A. N,O:

B. N;Oy

C. N,O3

D.NO

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AIr2FUU6twDO

7. What are the products formed when N Hj reacts

with I, ?

A. NH2NH2 and NIg

B. NH3NI3 and HlI

C. NHQNHz and HI

D. NI3 and NH3NI3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wjJrEp80SzUs

8. Which of the following is one of the products

formed when N Hj reacts with NaOC| ?

A NH,NH,

B. NaOH

C.Cl,

D. NH,CI

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SBsCkXkD85pz

9. One mole of calcium phosphide on reaction with

excess of water give:

A. one mole of phosphine

B. two moles of phosphoric acid

C. two moles of phosphine

D. one mole of phosphorus pentoxide

Answer: C

° Watch Video Solution

10. Phoshine is evolved upon heating


https://dl.doubtnut.com/l/_Oikj3u1bnLwk
https://dl.doubtnut.com/l/_QbmzLLpYMUTa

A. phosphoric acid

B. phosphorus acid

C. calcium phosphide in a current of hydrogen

D. Heating acetic acid with P,Ox

Answer: B

° Watch Video Solution

11. Which of the following pairs of gases is used to

prepare Holme's signals ?

A. Phosphine and acetylene


https://dl.doubtnut.com/l/_QbmzLLpYMUTa
https://dl.doubtnut.com/l/_dQWp8dNWEY9y

B. Phosphine and ethylene

C. Ammonia and acetylene

D. Phosphine and ammonia

Answer: A

° Watch Video Solution

12. Which statement is FALSE regarding NH3 and

PH,?

A. PH; is weaker base than NH;

B. PHj is weaker reducing agent than NHj



https://dl.doubtnut.com/l/_dQWp8dNWEY9y
https://dl.doubtnut.com/l/_WqwF7Cb4DiWG

C. PHj is less soluble in water than NHj

D. PH3 burns in oxygen to give P,O5 whereas

NHjs burns in oxygen to give IV,.

Answer: B

° View Text Solution

13. Among the following , the CORRECT statement is

A.between NH; and PH;, NHs is a better

electron donor because the lone pair of


https://dl.doubtnut.com/l/_WqwF7Cb4DiWG
https://dl.doubtnut.com/l/_JVeuA6fKB9fn

electrons occupies shperical 's' orbital and it
less directional

.between NH; and PH;, NH3 is a better
electron donor because the lone pair of
electrons occupies sp® orbital and is more
directional

.between NH; and PH;, NH; is a better
electron donor because the lone pair of
electrons occupies sp® orbital and is more

directional .


https://dl.doubtnut.com/l/_JVeuA6fKB9fn

D.between NH; and PH;, NH; is a better

electron donor because the lone pair of

electrons occupies spherical 's' orbital and is

less directional.

Answer: C

° View Text Solution

14. Bottle of PCl; is kept stoppered because it

A. explodes

B. is volatilized


https://dl.doubtnut.com/l/_JVeuA6fKB9fn
https://dl.doubtnut.com/l/_z4DYMLbSVy4S

C. gets oxidised

D. reacts with miosture

Answer: D

° Watch Video Solution

15. When PCI3 reacts with H5S0O, , sulphuryl

chloride (SO,Cly) is formed. This shows that

A. contains two hydroxyl groups in its molecule


https://dl.doubtnut.com/l/_z4DYMLbSVy4S
https://dl.doubtnut.com/l/_dLOHKwTxK3OK

B.contains two hydrogen (H) atoms in its
molecule
C. contains one sulphur dioxide (SO5) molecule

D. is a derivative of SOs.

Answer: A

° Watch Video Solution

16. The hybridisation undergone by P in PXj3 and

PX; are respectively.

A. sp® and sp’d


https://dl.doubtnut.com/l/_dLOHKwTxK3OK
https://dl.doubtnut.com/l/_GBvCmGSQ8yrc

B. sp°d and sp®
C. sp® and sp>d?

D. sp°d? and sp®

Answer: A

° Watch Video Solution

17. Which of the following statements is INCORRECT

for the structure of PCls ?

A.In gaseous and liquid phase, it has trigonal

bipyramidal geometry .


https://dl.doubtnut.com/l/_GBvCmGSQ8yrc
https://dl.doubtnut.com/l/_IxEpdrU4ipmw

B. Two axial P-Cl bonds are longer than three
equivalent P-Cl bonds.

C.three equatorial P-CI bonds are non-
equivalent.

D. In solid state, it exists as [PCl] + [PClg]

Answer: C

o Watch Video Solution

18. The final product of hydrolysis of P,Oq is


https://dl.doubtnut.com/l/_IxEpdrU4ipmw
https://dl.doubtnut.com/l/_x5zVFqGGjXjX

A H6P4013

B. H; P;0y,

C. H,P,Oy,

D. H, PO,

Answer: D

° Watch Video Solution

19. Which of the following oxoacids of phosphorus

containsa P — P bond?

A.(HPO3),


https://dl.doubtnut.com/l/_x5zVFqGGjXjX
https://dl.doubtnut.com/l/_nrmc8sPExuTD

B. H,P,0;

C. H,P,Oy

D. H,P,0-

Answer: C

° Watch Video Solution

20.The melting point of oxygen is very low compare

to that of sulphur because

A.oxygen is composed of diatomic molecule

while sulphur is polyatomic


https://dl.doubtnut.com/l/_nrmc8sPExuTD
https://dl.doubtnut.com/l/_QQHbbNQQiCGP

B.the magnitude of van der Waal's forces in

oxygen is higher than that of sulphur

C.oxygen is a stronger oxidising agent than

sulphur

D. oxygen is more electronegative than sulphur.

Answer: A

° Watch Video Solution

21. Polonium possess lower melting and boiling

points than tellurium due to


https://dl.doubtnut.com/l/_QQHbbNQQiCGP
https://dl.doubtnut.com/l/_k8xATcssVUus

A. higher atomic size

B. inert pair effect

C. stronger van der Waals forces in polonium

D. higher electronegativity

Answer: B

° Watch Video Solution

22. In the compound T'eF} , the hybridisation of Te


https://dl.doubtnut.com/l/_k8xATcssVUus
https://dl.doubtnut.com/l/_6LbF619s9Khk

Answer: B

o Watch Video Solution

23. The CORRECT increasing order of dipole

moments of the following is

A. H,O < H3S < HySe < HyTe

B. HyTe < HySe < HyS < H,0


https://dl.doubtnut.com/l/_6LbF619s9Khk
https://dl.doubtnut.com/l/_LjMQdc5f3BwL

C. H,Se < HyTe < H,O < H,S

D. HzSB < HzO < HQSG < H2T€

Answer: B

o View Text Solution

24. The number of unpaired electrons in the p-

subshell of oxygen atom

A1l

B.2

C.3


https://dl.doubtnut.com/l/_LjMQdc5f3BwL
https://dl.doubtnut.com/l/_TDaHd3cDe5yJ

D.4

Answer: B

o Watch Video Solution

25. it is possible to obtain oxygen from air by

fractional distillation because

A. oxygen is in a different group of the periodic

table from nitrogen

B. oxygen is more reactive than nitrogen


https://dl.doubtnut.com/l/_TDaHd3cDe5yJ
https://dl.doubtnut.com/l/_OcrkXrknwnF8

C.liquid dioxygen has higher boiling point than

liquid dinitrogen

D. oxygen has a higher density than nitrogen

Answer: C

° Watch Video Solution

26. Which statement is INCORRECT among the

following ?

A. The oxide which combines with water to give

an acid is reffered as acidic oxide.


https://dl.doubtnut.com/l/_OcrkXrknwnF8
https://dl.doubtnut.com/l/_uEB9KY7RpyCv

B. The oxide which show both acidic and basic
characteristics are called amphoteric oxides.
C.In a period, the acidic character of oxide
increases while the basic character decreases.

D. No, NyO and CO are examples of

amphoteric oxides.

Answer: D

° View Text Solution

27. Rhombic sulphur consists of


https://dl.doubtnut.com/l/_uEB9KY7RpyCv
https://dl.doubtnut.com/l/_pkbHGKXUS4d5

A. Sg

B. S5

C. S3

D. Sy

Answer: A

o Watch Video Solution

28. When SO, is passed through acidified KyCry0y

solution

A+3— +6


https://dl.doubtnut.com/l/_pkbHGKXUS4d5
https://dl.doubtnut.com/l/_llfrPHGeR2I8

B.+6 — +3

C.+4 — +3
D.+6 — — 3
Answer: B

o Watch Video Solution

29. When conc. Hy 50,4 comes in contact with sugar

it becomes black due to

A. hydrolysis

B. hydration


https://dl.doubtnut.com/l/_llfrPHGeR2I8
https://dl.doubtnut.com/l/_50gbtLkz4YmI

C. decolourisation

D. dehydration

Answer: D

° Watch Video Solution

30. Which of the following is NOT formed when HBr

reacts with H,SO, ?

A. B’l"z

B. H,O

C. SO,


https://dl.doubtnut.com/l/_50gbtLkz4YmI
https://dl.doubtnut.com/l/_moHDejMiW7ga

D. HyS

Answer: D

° Watch Video Solution

31. Which of the following gas is evolved when
crystals of K,[Fe(CN)q| is heated with conc.
Hy,S50,7

A.CO,

B. NO,

C.CO


https://dl.doubtnut.com/l/_moHDejMiW7ga
https://dl.doubtnut.com/l/_SwLeFPAlMPQm

D. SO,

Answer: C

° Watch Video Solution

32. The oxidation state of S in dithionic acid is/are

A —2 and + 4
B.+4
C.—2and +6

D.+5


https://dl.doubtnut.com/l/_SwLeFPAlMPQm
https://dl.doubtnut.com/l/_LNEYK9vtzVq5

Answer: D

o Watch Video Solution

33. In which of the following the repulsion between
the nonbonding pairs of electrons of two atoms is
large ?

A. Fy

B. Cl,

C. B’l”g

D. I,


https://dl.doubtnut.com/l/_LNEYK9vtzVq5
https://dl.doubtnut.com/l/_qSzcagx5Qf1I

Answer: A

° Watch Video Solution

34.In OF5, the number of bond pairs and lone pairs

of electrons are respectively,

A 2,6

B.28

C. 2,10

D.2,9

Answer: B



https://dl.doubtnut.com/l/_qSzcagx5Qf1I
https://dl.doubtnut.com/l/_L9XJAWAytvMq

| ) Watch Video Solution

35. Which of the following is NOT a mineral of

chlorine ?

A. Carnalite

B. Sylvine

C. Cryolite

D. Horn silver

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_L9XJAWAytvMq
https://dl.doubtnut.com/l/_k4IfHptleX9D
https://dl.doubtnut.com/l/_9kZy42zp1Doe

36. Chlorine can remove hydrogen

hydrocarbons. This is due to its

A. bleaching action

B. reducing property

C. very high affinity for hydrogen

D. gaseous state

Answer: C

from

o Watch Video Solution

37. Treatment of C'S, with excess of Cl, gives


https://dl.doubtnut.com/l/_9kZy42zp1Doe
https://dl.doubtnut.com/l/_WmyBEcTJWF82

A. CCly

B.SCl,

C.S

D. both (A) and (C)

Answer: D

° Watch Video Solution

38. In interhalogen compounds of XX, type

(where n=1,3,5,7),


https://dl.doubtnut.com/l/_WmyBEcTJWF82
https://dl.doubtnut.com/l/_HniGibvbxbEu

A.X is the halogen of smaller size and more

electropositive than X'

B.X is the halogen of larger size and more

electropositive than X'

C.X is the halogen of smaller size and less

electropositive than X

D.X is the halogen of larger size and less

electropositive than X'

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HniGibvbxbEu
https://dl.doubtnut.com/l/_qqqDhglKPgPD

39. The formula of some fluorides are given below.

Which of then will combine further with fluorine?

A IF;

B. NaF

C. CCLFz

D. SF

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qqqDhglKPgPD

40. Which of the following is used to isolate

plutonium from used nuclear fuel ?

A. CL,O,

B. 02F2

C. B’l"Og

D. ,O,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dlmhDbSng23K

41. CIF5 and BrFj are used in the enrichment of
B. 23°U
C. 152 Ry

D.20po

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_tUqwRhvj34K1

42. Which one of the following halogens forms only

one oxo acid ?

A. Fluorine

B. Chlorine

C. Bromine

D. lodine

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aSDZCbAqU6jr

43. Among the following statements, which os

INCORRECT ?

A. Cl, gas is dried by using conc. Hy SOy, .

B. HF shows hydrogen bonding.

C. Oxidising power of halogens follow the order

I; > Bry > Cl,.

D. Hl is the strongest acid among HI, HBr,HCI.

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_O1K08zjGbe2s
https://dl.doubtnut.com/l/_HzDRc7n34Mn3

44, Longest lived isotope of radon , have life of

A. 3.8 hours

B. 3.8 days

C. 3.8 months

D. 3.8 years

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HzDRc7n34Mn3

45. For noble gases, the ratio of specific heat at
constant pressure (Cp) to specific heat at constant

volume (CYy) is

A 101
B.1.33
C.1.66

D.1.88

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GTEyR7d4dKw8

46. Gradual addition of electronic shells in the noble

gases causes a decrease in their

A.ionization energy

B. Atomic radius

C. boiling point

D. density

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1gV7OcsaSnRC

47. The interatomic forces of attraction present in

noble gas are

A. dipole-dipole interaction

B. ion-dipole interaction

C. induced dipole-induced dipole interaction

D. ion-induced dipole interaction

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_RTt2syTRBiwi

48. Noble gases are group of elements which exhibit

very :

A. high vaporization enthalpy

B. low chemical activity

C. minimum electronegativity

D. much paramagnetic properties

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_TDOK97x0x4WA

49. The solubility of noble gases in water is due to

A. their inert nature

B. dipole-induced dipole interaction

C. low heat of vaporization

D. the property of diffusibility

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iDoSQVM9Hurx

50. Which of the following is NOT the reason for

non-reactivity of noble gases ?

A. Completely filled valence shell.

B.Large and positive values of electron gain

enthaply.

C. Low enthaply of vaporization.

D. High ionization enthaply

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HWFkD39tZHob
https://dl.doubtnut.com/l/_2a2k7Kwhwmit

51. Which of the following noble gas was reacted
with PtFg by Bartlett to prepare the first noble gas
compound ?

A. He

B. Xe

C.Ar

D. Kr

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2a2k7Kwhwmit

52. The first compound of noble gases prepared in
laboratory was

A Xe " [PtFg)~

B. X6F4

C. XBF(;

D. X60F4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rbMNUA28jtDm

53. Which of the following does not react with

fluorine ?

A. He

B. Kr

C. Ar

D. Ne

Answer: B

° Watch Video Solution

Competitive Thinking



https://dl.doubtnut.com/l/_h4jTMRq8JObf

1. The element that does not exhibit allotropy is

A. phosphorus

B. arsenic

C. antimony

D. bismuth

Answer: D

o Watch Video Solution

2. Which among the following group 15 element

forms most stable pentavalent compound ?


https://dl.doubtnut.com/l/_tVbhxOPSMz8j
https://dl.doubtnut.com/l/_vahSFsEa9Ptp

A. Phosphorus

B. Antimony

C. Bismuth

D. Arsenic

Answer: A

° Watch Video Solution

3. Boiling/melting points of the following hydrides

follow in order.

A. NH3 > A8H3 > PH3 > Sng


https://dl.doubtnut.com/l/_vahSFsEa9Ptp
https://dl.doubtnut.com/l/_dOXdv9bxqu03

B.SbH3 > ASHg > PH3 > NH3

C.SbH; > NH; > AsH; > PH;,

D. NH3 > PH3 > ASH3 > SbH3

Answer: C

o Watch Video Solution

4.The least stable hydride of 15t group elements is
A. NH;

B. PH;


https://dl.doubtnut.com/l/_dOXdv9bxqu03
https://dl.doubtnut.com/l/_9xIZ2s7Uxrcq

C. SbH,

D. BiH;

Answer: D

° Watch Video Solution

5. Which element among the following does form

pm — pm multiple bonds ?

A. Arsenic

B. Nitrogen

C. Phosphorus


https://dl.doubtnut.com/l/_9xIZ2s7Uxrcq
https://dl.doubtnut.com/l/_cB9HlyEshIH2

D. Antimony

Answer: B

o Watch Video Solution

6. In case of nitrogen, NCl3 is possible but not

NCls while in case of phosphorous, PCl; are

possible. It is due to

A. availability of vacant d-orbital in P but not in N

B. lower electronegativity of P than N


https://dl.doubtnut.com/l/_cB9HlyEshIH2
https://dl.doubtnut.com/l/_hZUx2pflCGbw

C. lower tendency of H bond formation in P than

D. occurance of P | solid while N in gaseous state

at room temperature.

Answer: A

° Watch Video Solution

7. Ammonium dichromate on heating gives

A. chromium oxide and ammonia

B. chromic acid and nitrogen


https://dl.doubtnut.com/l/_hZUx2pflCGbw
https://dl.doubtnut.com/l/_btOGctPIyMi6

C. chromium oxide and nitrogen

D. chronic acid and ammonia

Answer: C

° Watch Video Solution

8. Extra pure N, can be obtained by heating

B. NH,NO;
C. (NH4)2C7°207

D. B(Z(Ng)z


https://dl.doubtnut.com/l/_btOGctPIyMi6
https://dl.doubtnut.com/l/_2Js3i3HKu03R

Answer: D

° Watch Video Solution

9. Which among the group-15 elements does not

exists as tetra atomic molecule ?

A. Nitrogen

B. Phosphorus

C. Arsenic

D. Antimony

Answer: A



https://dl.doubtnut.com/l/_2Js3i3HKu03R
https://dl.doubtnut.com/l/_NYZMbYAJcW9C

| ) Watch Video Solution

10. Excess of ammonia with sodium hypochloride

solution in the presence of glue or gelatine gives

A. NaNH,

B. NH, NH,

C. N,

D. NH,(CI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NYZMbYAJcW9C
https://dl.doubtnut.com/l/_IBV1De6zmhyp
https://dl.doubtnut.com/l/_06zDzxPrqTWW

11. The product obtained a result of a reaction of

nitrogen with CaC5 is

A. CCLCNg

B. CCI,QCN

C. CG,CN2

D. CaCN

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_06zDzxPrqTWW

12. Ammonia on reaction with chlorine forms an

explosive NCl3 . What is the mole ratio of NH3 and

Cl5 required for this reaction ?

A 8:3

B.1:1

C.1:3

D.10:1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_LKy7uvMFxeOi

13. The mixture of concentrated HCl and HNQO;

made in 3: 1 ratio contains

A.ClO,

B. NOCI

C. NCl;

D. N,O,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Kogm4jPSIwKp

14. The reaction of zinc with dilute and concentrated

nitric acid, respectively, produce

A. NyOadNQO,

D. N,O,

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MsS2dRkZl8jS

15. When copper is heated with conc. HNO; it
produces?

A. C’U,(NO3)2, NO and N02

BCU(NO3)2 and NQO

C. CU(N03)2 and N02

D. Cu(NOj), and NO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_v6fQZIvRS4VV

16. Brown ring test is used for detection of which

radical?

A. Ferrous

B. Nitrite

C. Nitrate

D. Ferric

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Va7rfsRXXkEl

17. Which oxide of nitrogen is obtained on heating

ammonium nitrate at 250° C?

A. Nitric oxide

B. Nitrous oxide

C. Nitrogen dioxide

D. Dinitrogen oxide

Answer: B

° Watch Video Solution

18. Nitriogen dioxide is released by heating


https://dl.doubtnut.com/l/_eMLpHIZfkNJj
https://dl.doubtnut.com/l/_1GYWXeEGL82h

A. Pb(NOs),
B. KNO,
C. NCI,N02

D. NaNO3

Answer: A

o Watch Video Solution

19. Which oxide is colourless and neutral ?

A. N,O

B. N,Os


https://dl.doubtnut.com/l/_1GYWXeEGL82h
https://dl.doubtnut.com/l/_kAAOkai5lLoe

C. N>,Oy

D. N,O:

Answer: A

° Watch Video Solution

20. In which substance does nitrogen exhibit the

lowest oxidation state ?

A. Nitrogen gas

B. Ammonia

C. Nitrous oxide


https://dl.doubtnut.com/l/_kAAOkai5lLoe
https://dl.doubtnut.com/l/_DXCIHAqTvEeI

D. Nitric oxide

Answer: B

o Watch Video Solution

21. In which among the oxides of nitrogen is the

oxidation number of nitrogen lowest ?

A. Nitric oxide

B. Nitrous oxide

C. Nitrogen dioxide

D. Nitrogen trioxide


https://dl.doubtnut.com/l/_DXCIHAqTvEeI
https://dl.doubtnut.com/l/_hAWPB6U8tGfO

Answer: B

° Watch Video Solution

22. Oxidation stte of nitrogen in NyOy is

A —4

B. +4

C.+5

D.+6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hAWPB6U8tGfO
https://dl.doubtnut.com/l/_0cb378dUCoW0

23. The nirogen oxide (s) that contains N — N

bonds is/are

A. N,O

B. N,Os

C. N204

D. all

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_0cb378dUCoW0
https://dl.doubtnut.com/l/_LXsemWXqadqs

24. Atoms in Py molecule of white phosphorus are

arranged regularly in the following way :

A. At the corners of tetrahedron

B. At the corners of a cube.

C. At the corners of a four membered ring.

D. At the centre and corners of an equilateral

triangle.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mb2BQ6e4Z6gA
https://dl.doubtnut.com/l/_Ld4Y8XQow4Z1

25. Which of the following statement is INCORRECT

?
A. The stability of hydrides increase from NHj
to BiHj in group 15 of the periodic table.
B. Nitrogen cannot form dm — pm bond.
C.Single N-N bond is weaker than the single P-P
bond.
D. N,O,4 has four resonance structures.
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ld4Y8XQow4Z1
https://dl.doubtnut.com/l/_x4f7NgwjrXsI

26. Phosphine is prepared by the action of

A.Pand H,50,4

B. P and NaOH

C.Pand H,S

D.Pand HNO;

Answer: B

° Watch Video Solution

27. The reaction of P, + NaOH + H,0 involves

the following for P:


https://dl.doubtnut.com/l/_x4f7NgwjrXsI
https://dl.doubtnut.com/l/_xeXmsg7Lie5G

A. Oxidation

B. Reduction

C. Both oxidation and reduction

D. Neutralization

Answer: C

o Watch Video Solution

28. Sulphuryl chloride (SO,Cl,) reacts with white

phosphorus (Py) to give

A. PCl;, SO,


https://dl.doubtnut.com/l/_xeXmsg7Lie5G
https://dl.doubtnut.com/l/_lAl7WUKSYFbG

B. OPCls, SOCI,

C. PCls5, SO,, S;Cl,

D. OPCl3, SO,, S;Cl,

Answer: A

° Watch Video Solution

29. Phosphine is not obtained by the reaction

A. White P is heated with NaOH

B. Red P is heated with NaOH

C. Cas P, reacts with water


https://dl.doubtnut.com/l/_lAl7WUKSYFbG
https://dl.doubtnut.com/l/_ENQhKaHd8L7e

D. Phosphorus trioxide is boiled with water

Answer: B

o Watch Video Solution

30. What may be expected to happen when

phosphine gas is mixed with chlorine gas ?

A. The mixture only cools down.

B. PCl3 and HCI are formed and the mixture

cools down.

C. PH3Cl, is formed with warming up.


https://dl.doubtnut.com/l/_ENQhKaHd8L7e
https://dl.doubtnut.com/l/_fEqtg6IxRm9Y

Answer: B

o Watch Video Solution

31. Which product will be obtained in the following
reaction ? Py + NaOH + H,O—>

A. PH3(g) + 3NCL2HP02(aq)

B. PH3(,) + 3NaH3POs ()

C. 2PH3(9) + 3NCL2HP02(aq)

D. PH3(g) + 3NaHP02(aq)


https://dl.doubtnut.com/l/_fEqtg6IxRm9Y
https://dl.doubtnut.com/l/_KfIROov8iob3

Answer: B

o Watch Video Solution

32. The molecular formulae for phosgene and tear

gas are and respectively.

A.SOCly and CCI3NO,
B. COCl,; and CClyNO;
C. COClQ and CClgNOz

D. SOClz and CClgNOg

Answer: C

| 1


https://dl.doubtnut.com/l/_KfIROov8iob3
https://dl.doubtnut.com/l/_XQGKogmuxdCE

| ) Watch Video Solution

33. Which is true with regard to the properties of

PH;?

A. PH; is not much stable

B. PH; is neutral towards litmus.

C. PHj has fishy smell.

D. PHj; is insouble in water.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XQGKogmuxdCE
https://dl.doubtnut.com/l/_FE5pv6ZOlYPL
https://dl.doubtnut.com/l/_uEuixCmo5i9Q

34. Which of the element of nitrogen family produce

maximum number of oxy-acids ?

A.N

B.P

C. As

D. Sb

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uEuixCmo5i9Q

35. The number of hydrogen atom(s) attached to

phosphorus atom in hypophosphorus acid is

A. zero

B. two

C.one

D. three

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_euX8JIbxMv9A

36. In which oxyacids of phosphorus three-OH

groups are present ?

A. Pyrophosphorus acid

B. Orthophosphorus acid

C. Orthophosphoric acid

D. Hypophosophorus acid

Answer: C

° Watch Video Solution

37. What is the basicity of orthophosphorous acid ?



https://dl.doubtnut.com/l/_wxQq2RhgLRo7
https://dl.doubtnut.com/l/_6tk5Vm2vAGIE

A. one

B. two

C.three

D. four

Answer: B

° Watch Video Solution

38. Which among the following oxoacids of
phosphorus shows a tendency of

disproportaonation ?


https://dl.doubtnut.com/l/_6tk5Vm2vAGIE
https://dl.doubtnut.com/l/_iylQIWZGEYf7

A. Phosphinic acid (H3PO,)
B. Orthophosphoric acid (H3 PO,)
C. Phosphonic acid (H3PO3)

D. Pyrophosphoric acid (H,P,Or)

Answer: C

° Watch Video Solution

39. Identify the compound in which phosphorus

exists in the oxidation state of +1.

A. Phosphonic acid (H3POs3)


https://dl.doubtnut.com/l/_iylQIWZGEYf7
https://dl.doubtnut.com/l/_Vp2RtCZ89fPH

B. Phosphinic acid (H3PO»)
C. Pyrophosphoric acid (H4P»0r)

D. Orthophosphoric acid (H3 POy,)

Answer: B

° Watch Video Solution

40. Strong reducing behaviour of H3 PO, is due to

A. high oxidation state of phosphorus

B. presence of two -OH groups and one P-H bond.

C. presence of one -OH group and two P-H bonds.


https://dl.doubtnut.com/l/_Vp2RtCZ89fPH
https://dl.doubtnut.com/l/_uMXZp2XOjieX

D. high electron gain enthaply of phosphorus

Answer: C

o Watch Video Solution

41.In P4010,

A H3 PO,

B. H; PO;

C. H;PO,

D. H,P,O-

Answer: C


https://dl.doubtnut.com/l/_uMXZp2XOjieX
https://dl.doubtnut.com/l/_Ye5VPYY4ypxs

o Watch Video Solution

42. Which is the correct statement for the given

acids ?

A. Phosphinic acid is a monoprotic acid while

phosphonic acid is a diprotic acid.

B. Phosphinic acid is a diprotic while phosphoric

acid is a monoprotic acid

C. Both are diprotic acid

D. Both are triprotic acids.


https://dl.doubtnut.com/l/_Ye5VPYY4ypxs
https://dl.doubtnut.com/l/_INhxr9fmByKL

Answer: A

o Watch Video Solution

43. The pair in which phosphours atoms have a

formed oxidation state of +3 is

A. Orthophosphorus and pyrophosphorus

B. Pyrophosphorus and hypophosphoric acids

C. Orthophosphorus and hypophosphoric acids

D. Pyrophosphorus and pyrophosphoric acids

Answer: A

[ = 1


https://dl.doubtnut.com/l/_INhxr9fmByKL
https://dl.doubtnut.com/l/_WPbUplRs7tml

| ) Watch Video Solution

44. How many bridging oxygen atoms are presents

in P4010 ?

A.6

B.4

C.2

D.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WPbUplRs7tml
https://dl.doubtnut.com/l/_KhE8Kvt4PwJC
https://dl.doubtnut.com/l/_kbg06fQE7L6g

45, P,Oq is not used to dry N H; gas because

A. P,Oq, is basic and NHj is acidic.

B. p4O19 is acidic and INHj is basic

C. P,Oq isnot a drying agent

D. P4Oq reacts with moisture in NHj

Answer: B

° Watch Video Solution

46. Which among the following group 16 elements

exists in more than two allotropic states ?


https://dl.doubtnut.com/l/_kbg06fQE7L6g
https://dl.doubtnut.com/l/_2BwmDda57y16

A. Polonium

B. Tellurium

C. Selenium

D. Oxygen

Answer: C

° Watch Video Solution

47. Which is the most stable allotrope of sulphur ?

A. Octahedral sulphur

B. Monoclinic sulphur


https://dl.doubtnut.com/l/_2BwmDda57y16
https://dl.doubtnut.com/l/_PXuG1zdj3x9A

C. Plastic sulphur

D. Colloidal sulphur

Answer: A

o Watch Video Solution

48. Amongest H,0O, H5S, HySe and HsTe the one

with highest boiling point is :

A. H5O because of hydrogen bonding

B. HyT'e because of higher molecular weight

C. H,S because of hydrogen bonding


https://dl.doubtnut.com/l/_PXuG1zdj3x9A
https://dl.doubtnut.com/l/_Cbm15YlER4sj

D. H,Se because of lower molecular weight

Answer: A

o Watch Video Solution

49. Which among the following compounds does

not act as reducing agent ?

A.H,0

B. Hy,S

C. HgSe

D. H2T€


https://dl.doubtnut.com/l/_Cbm15YlER4sj
https://dl.doubtnut.com/l/_oimJmssIv1PJ

Answer: A

° Watch Video Solution

50. The element that does not form acidic oxide is

A. Carbon

B. Phosphorus

C. Chlorine

D. Barium

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oimJmssIv1PJ
https://dl.doubtnut.com/l/_l9370Vzc08b0

51. Among the following, the most basic oxide is-

A.ZnO

B. MgO

C. Al,O4

D. N2O5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_l9370Vzc08b0
https://dl.doubtnut.com/l/_zJjD1NULBNhM

52. Which of the following is different from other

three oxides?

A. MgO

B.SnO

C.ZnO

D. PbO

Answer: A

° Watch Video Solution

53. Which of the following is a neutral oxide?


https://dl.doubtnut.com/l/_2cGL07GlvNmN
https://dl.doubtnut.com/l/_mZzTzhGYfYeY

A. SO,

B. BaO

C. N;O

D.CO,

Answer: C

o Watch Video Solution

54. Identify the element that forms amphoteric

oxide.

A. Carbon


https://dl.doubtnut.com/l/_mZzTzhGYfYeY
https://dl.doubtnut.com/l/_2WHR6GmsgLJV

B. Zinc

C. Calcium

D. Sulphur

Answer: B

° Watch Video Solution

55. In the following reaction, ZnO is respectively
acting as a/an
(i) ZnO + NCLQO — NCLQZ’I’LOQ

(ii) ZnO + COy — ZnCO;4

A. base and acid


https://dl.doubtnut.com/l/_2WHR6GmsgLJV
https://dl.doubtnut.com/l/_xrs4kl0s7SsY

B. base and base

C. acid and acid

D. acid and base

Answer: D

o Watch Video Solution

56. The colour of liquid Oy is

A. pale yellow

B. pale blue

C. green



https://dl.doubtnut.com/l/_xrs4kl0s7SsY
https://dl.doubtnut.com/l/_CLBE6lWuS6CR

D. red

Answer: B

o Watch Video Solution

57. The bond angle and O-O bond length in O3 are

respectively

A.116.8° and 1.28A

B.90° and 1.38A

C.120° and 1.1A

D.60° and 1.5A


https://dl.doubtnut.com/l/_CLBE6lWuS6CR
https://dl.doubtnut.com/l/_w3S2hxbTeWf6

Answer: A

o Watch Video Solution

58. Ozone is present as a chief constituent in which

region of the atmosphere ?

A. Troposphere

B. Stratosphere

C. Mesosphere

D. Thermosphere

Answer: B



https://dl.doubtnut.com/l/_w3S2hxbTeWf6
https://dl.doubtnut.com/l/_QOzJtMmRErjf

| ) Watch Video Solution

59. Six volumes of oxygen, on complete ozonisation

form __ volumes of ozone.

A 4

B.3

C.2

D.6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QOzJtMmRErjf
https://dl.doubtnut.com/l/_iIbhMTDJKO0c
https://dl.doubtnut.com/l/_br9LgeUsWSxo

60. Ozone, on reaction with KI solution, finally

produces

A. Cl,
B. I
C. Hi

D. IO;

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_br9LgeUsWSxo

61. Number of unpaired electrons on sulphur in

sulphur dioxide gas is ?

A2

B.6

C.8

D.1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_afES5oimL59f

62. Which one statement about sulphur dioxide gas

is INCORRECT ?

A. It has an angular shape

B. It decolurises acidified potassium

permanganate solution.

C. Two S-O bonds are equal.

D. It is a dehydrating agent.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_EGJEhV2gAgCC
https://dl.doubtnut.com/l/_vW2RnNB6yRUU

63. Aqueous solutions of hydrogen suphide and

sulphur dioxide when mixed together , vyeild

A. sulphur and water

B. sulphur trioxide and sulphur

C. hydrogen peroxide and sulphur

D. hydrogen and sulphurous acid

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vW2RnNB6yRUU

64. A crystalline solid 'X' reacts with dil. HCl to
liberate a gas 'Y'.'Y' decolourises acidified K MnQj,.
When a gas'Z' is slowly passed into an aqueous
solution of 'Y', colloidal sulphur is obtained . 'x' and
'Z' could be , respectively.

A.Na,S, SO;

B. NCLQSO4, H2S

C. Na2SO3, HQS

D. Na,2804, 504

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_S5gTUzcJ8BgO

65. The oxidation number of sulphur

Sg, SoFy and H,S respectively are:

A0, +1 and — 2

B.+2, +1 and — 2

C.0, +1 and + 2

D.—2, +1and — 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_S5gTUzcJ8BgO
https://dl.doubtnut.com/l/_5QCRkNLbvgIH

66. Which is produced by contact process ?

A.H,SO,

B. steel

C.S

D. NaOH

Answer: A

o Watch Video Solution

67. What is the catalyst used for oxidation of SO, to

SO; in lead chamber process for manufacture of


https://dl.doubtnut.com/l/_h2hcWP3DYZfp
https://dl.doubtnut.com/l/_cBh0Mf6tFXdD

sulphuric acid ?

A. Nitric acid

B. Nitrous acid

C. Potassium iodine

D. Dilute HCI

Answer: A

° Watch Video Solution

68. Sulphuric acid reacts with PC'; to give

A. thionyl chloride


https://dl.doubtnut.com/l/_cBh0Mf6tFXdD
https://dl.doubtnut.com/l/_MavtgbdauBwd

B. sulphur monochloride

C. sulhpuryl chloride

D. sulphur tetrachloride

Answer: C

o Watch Video Solution

69. Which one is known as oil of vitriol ?

A. H, 505

B. H,S50,

C. Hy 5507


https://dl.doubtnut.com/l/_MavtgbdauBwd
https://dl.doubtnut.com/l/_bbIUzKhNfWVB

D. H25208

Answer: B

° Watch Video Solution

70. Peroxydisulphuric acid has which of the

following bond ?

AO<+0O0=0

B.+~ O0=0 —

C.—-S5-85-

D.—O -0 —


https://dl.doubtnut.com/l/_bbIUzKhNfWVB
https://dl.doubtnut.com/l/_EDLySDGtim0U

Answer: D

° Watch Video Solution

71. The molecular formula of dithionic acid

A. Hy,5,0,

B. H25206

C. H252O5

D. Hy55,07

Answer: B

IS



https://dl.doubtnut.com/l/_EDLySDGtim0U
https://dl.doubtnut.com/l/_qnWuR3g22gKJ

| ) Watch Video Solution

72. Which oxyacid of sulphur contains S-S single

bond?

A. Oleum

B. Marshall's acid

C. Dithionic acid

D. Thiosulphuric acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qnWuR3g22gKJ
https://dl.doubtnut.com/l/_bVyJnhrF3QGa
https://dl.doubtnut.com/l/_9w8pyJ8sUMd0

73. Which oxoacid of sulphur contains S-S bond in

its structure ?

A. Disulphurous acid

B. Disulphuric acid

C. Perdisulphuric acid

D. Hydrosulphurous acid

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9w8pyJ8sUMd0

74. In which pair of ions both the species contains
S — Sbond?

A. 5,08

B. 5,02

. 5,0}, 5,07

D. S,0%, S,02"

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GTN0XvBclFDi

75.Which of the following halogen does not exhibit

positive oxidation state in its compounds?

A. Cl

B.Br

C.1

D.F

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Sfb5VCbeQmc0

76. What is the highest oxidation state exhibited by
group 17 elements ?

A +1

B.+3

C.+5

D.+7

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DJvOMFov78ML

77. Which halogen has the highest value of negative

electron gain enthalpy ?

A. Fluorine

B. Chlorine

C. Bromine

D. lodine

Answer: B

° Watch Video Solution

78. The weakest acid HX (X =F ,Cl ,Br, 1) is _


https://dl.doubtnut.com/l/_D1qRjULfsGYB
https://dl.doubtnut.com/l/_sY2dMISQwv9A

A. HF

B. HCI

C. HBr

D. HI

Answer: A

° Watch Video Solution

79. Which one of the following orders is correct for
the bond dissociation enthalpy of halogen

molecules?


https://dl.doubtnut.com/l/_sY2dMISQwv9A
https://dl.doubtnut.com/l/_3JuKJ5BNngSt

A.BT’2 > IQ > F2 > Cl2

B.Fy > Cly > Bry > I,

C.I, > Bry > CIlyF)

D.Cly, > Bry > Fy > I,

Answer: D

o Watch Video Solution

80. The variation of the boiling points of the
hydrogen halides is in the order

HF > HI > HBr > HC(CI.


https://dl.doubtnut.com/l/_3JuKJ5BNngSt
https://dl.doubtnut.com/l/_rvATznQcebpE

What explains the higher boiling point of hydrogen

fluoride?

A.The bond energy of HF molecules is greater

than in other hydrogen halides.

B.The effect of nuclear shielding is much

reduced in fluorine which polarizes the HF

molecule.

C.The electronegativity of fluorine is much

higher than for other elements in the groups.

D. There is strong hydrogen bonding between HF

molecules.


https://dl.doubtnut.com/l/_rvATznQcebpE

Answer: D

° Watch Video Solution

81. Which halide of magnesium has highest ionic

character?

A. Chlorine

B. Bromide

C.lodine

D. Fluoride

Answer: D



https://dl.doubtnut.com/l/_rvATznQcebpE
https://dl.doubtnut.com/l/_vz7WTz1IklMe

l ) Watch Video Solution J

82. Which one of the following orders is not in

according with the property stated against it ?

A . Fy > Cly > Bry > I, : electronegativity

B.Fy > Cly > Bry > 1, : Bond dissociation

energy

C.Fy > Cly > Bry > I, : Oxidising power

D.HI > HBr > HCIl > HF : Acidic property

in water

Answer: B


https://dl.doubtnut.com/l/_vz7WTz1IklMe
https://dl.doubtnut.com/l/_LAYwbsG9WVuo

° Watch Video Solution

83. Which of the following is used in the preparation

of chlorine?

A.Only MnO,

B.only KMnQOy,

C.both MnO, and KMnQO,

D. Either MnO, and KMnQO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LAYwbsG9WVuo
https://dl.doubtnut.com/l/_x32EkPiZFPyJ

84. Which of the following mixture is called
aquaregia ?
A. Two parts of conc.HCl and two parts of conc.
HNO; .
B. Three parts of dil. HCl and one part of conc.

HNO;

C. Three parts of conc. HCl and one part of dil.
HNO;

D. Three parts of conc. HCl and one part of conc.

HNO;


https://dl.doubtnut.com/l/_QQrivhQZfG9o

Answer: D

° Watch Video Solution

85. The mixture of conc. HCl and potassium chlorate

on heating gives

A. Clyonly

B. ClO5 only

C.Cly + ClO,

D.Cly + ClOy + ClO;

Answer: C



https://dl.doubtnut.com/l/_QQrivhQZfG9o
https://dl.doubtnut.com/l/_a4PrWVD1dOX2

| ) Watch Video Solution

86. The products obtained when chlorine gas reacts
with cold and dilute aqueous NaOH are :

A.ClO~ and ClOg4

B.ClO, and ClO;

C.Cl™ and CIO™

D.CI™ and ClO;

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a4PrWVD1dOX2
https://dl.doubtnut.com/l/_Ia1neAVTWPKG
https://dl.doubtnut.com/l/_9yECxLzoM7Cp

87. MnOy + HCI —A—> A(g)

573K
A(g) + Fa(excess) — B(y)

By + Uiy = Cg) + Dyy)

The gases AB, C and D are respectively

A.Cly, CIF, UF;, CIF,
B. Cly, CIF;, UFy, CIF
C. O, OF3, U,03, O3 Fy

D. Oy, Oz F5, U303, OF)

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_9yECxLzoM7Cp
https://dl.doubtnut.com/l/_BS0Vqti7wbeV

88. The stability of interhalogen compounds follows

the order

A. IF3 > B’I"F3 > CIFg

B.B’I"Fg > IF3 > CIF3

C. CIF3 > B’I"F3 > IF3

D. CIFg > IF3 > B’I”Fg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BS0Vqti7wbeV

89. Which among the following is the most reactive

gt

A Cly

B. B’l”g

c. I

D. ICl

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_FiKqwpTlpEay

90. What is the geometry of molecule of bromine

penta fluoride ?

A. Square planar

B. Trigonal bipyramidal

C. Square pyramidal

D. Octahedral

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2DMcgmgeu4iO

91. Which halogen forms an oxoacids that contains

the halogen atom in tripositive oxidation state ?

A. Fluorine

B. Chlorine

C. Bromine

D. lodine

Answer: B

° Watch Video Solution

92. Which one is the anhydride of HC1O, ?


https://dl.doubtnut.com/l/_ZZRL69RP0ccK
https://dl.doubtnut.com/l/_pNFaUahFchYv

A.Cl,0

B. ClO,

C. Cly04

D. Cl,O

Answer: D

° Watch Video Solution

93. Among the following, the correct order of acidity

is:

A .HClOy < HCIO < HCIO3 < HCIlOy4


https://dl.doubtnut.com/l/_pNFaUahFchYv
https://dl.doubtnut.com/l/_HUblfyZHF71u

B.HCIO, < HCIOy < HCIO < HCIOs

C. HClOg < HClO4, < HCIO, < HCIO

D. HCIO < HCIlO49 < HCZOg < HCIlO,

Answer: D

° Watch Video Solution

94. Which element among the following does not

form diatomic molecules?

A. Argon

B. Oxygen


https://dl.doubtnut.com/l/_HUblfyZHF71u
https://dl.doubtnut.com/l/_Tfl1vB943Ot5

C. Nitrogen

D. Bromine

Answer: A

° Watch Video Solution

95. The most abundant noble gas in the atmosphere

IS

A. Neon

B. Argon

C. Xenon


https://dl.doubtnut.com/l/_Tfl1vB943Ot5
https://dl.doubtnut.com/l/_erWFez62YAYd

D. Krypton

Answer: B

° Watch Video Solution

96. Electronic configuration of only one P block

element is exceptional one molecuale of that

element consists of how many atoms of it ?

A. One

B. Two

C.Three


https://dl.doubtnut.com/l/_erWFez62YAYd
https://dl.doubtnut.com/l/_A6anlEmS5hpQ

D. Four

Answer: A

° Watch Video Solution

97. Which one has the highest boiling point?

A. He

B. Ne

C.Kr

D. Xe

Answer: D


https://dl.doubtnut.com/l/_A6anlEmS5hpQ
https://dl.doubtnut.com/l/_12OWBzQHnyDp

o Watch Video Solution

98. The formation of O, [PtFg] ™ is the basis for
the formation of xenon fluorides. This is because:

A. O5 and Xe are diamagnetic.

B. Both O, and Xe are gases.

C. Oy and Xe have comparable ionisation.

D. O, and Xe have comparable

electronegativities.

Answer: C

| o WMiak .\t daa Al



https://dl.doubtnut.com/l/_12OWBzQHnyDp
https://dl.doubtnut.com/l/_nWtVt37metmV

Yvdailil VIUCUV JUVUIULIVII J)

99. The noble gas which forms maximum number of

compound is

A. Ar

B. He

C. Xe

D. Ne

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nWtVt37metmV
https://dl.doubtnut.com/l/_1Vm70k7d6YxV
https://dl.doubtnut.com/l/_UuSS7AYBq24I

100. The correct geometry and hybridisation for

XeF, are

A. square planar,sp>d®
B. octahedral, sp®d?
C. trigonal bipyramidal , sp>d

D. planar triangle, sp>d®

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UuSS7AYBq24I

101. Which one of the following statements

regarding helium is incorrect ?

A.lt is used to produce and sustain powerful

superconducting magnets.

B. It is used as a cryogenic agent for carrying out

experiments at low temperatures.

C.lt is used to fill gas balloons instead of

hydrogen because it is lighter than hydrogen

and non-inflammable.

D. It is used in gas -cooled nuclear reactors.


https://dl.doubtnut.com/l/_dypotYnBeEbu

Answer: C

° Watch Video Solution

102. Argon is used in arc welding because

A. low reactivity with metal

B. ability to lower the melting point of metal.

C. flammability

D. high calorific value.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dypotYnBeEbu
https://dl.doubtnut.com/l/_VTFcIgAmW6se

103. In which of the following arrangements, the

sequence is not strictly according to the property

written against it ?

A .HF < HCl < HBr < HI: increasing acidic

strength

B.NH; < PH; < AsH; < SbH3 : increasing

ionization stregth

C.B < (C < O < N: increasing first oxidising

power.


https://dl.doubtnut.com/l/_VTFcIgAmW6se
https://dl.doubtnut.com/l/_x3DwOoES7Cmk

D.CO5 < 5109 < 5105 < PbOs : increasing

oxidising power.

Answer: B

° Watch Video Solution

104. The incorrect statement among the following is

A. Cg is an allotrope form of carbon

B. O3 is an allotrope form of oxygen

C. Sg is only allotropic form of sulphur


https://dl.doubtnut.com/l/_x3DwOoES7Cmk
https://dl.doubtnut.com/l/_FDanYY36Zodu

D.red phosphorus is more stable in air than

white phosphorus

Answer: C

° Watch Video Solution

105. Identify a metallloid from the following list of

elements

A. Carbon

B. Neon

C. Sodium


https://dl.doubtnut.com/l/_FDanYY36Zodu
https://dl.doubtnut.com/l/_30pJmy5jQr6g

D. Tellurium

Answer: D

o Watch Video Solution

106. What is the most abundant element on earth ?

A. Hydrogen

B. Nitrogen

C. Oxygen

D. Silicon

Answer: C


https://dl.doubtnut.com/l/_30pJmy5jQr6g
https://dl.doubtnut.com/l/_dQ6olCtHh8nF

° Watch Video Solution

107. What is smoke screen ?

A.NH,CI

B. SO,

C. P,Os

D. HClI

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_dQ6olCtHh8nF
https://dl.doubtnut.com/l/_NRwLAVSRr4MQ

108. Among the following ,which one is the wrong

statement

A. I3 has bent geometry

B. PHy and Bi(Cll5 do not exist.

C. pr — dm bonds are present in SO,

D. SeF;y and C H, have same shape.

Answer: D

° Watch Video Solution

Evaluation Test



https://dl.doubtnut.com/l/_6HkHPV5eCvf8

1. Fluoric acid is

A. HOFO,

B. HF

C. HOF

D. IF,

Answer: C

o Watch Video Solution

2. Which of the following liberate nitrogen on

heating?


https://dl.doubtnut.com/l/_OuQUYryfDhgi
https://dl.doubtnut.com/l/_BrBkSfrOOTO2

A. Ba(N3)2
B. NCI,N3
C. (NH4)2C’I"207

D. All of these

Answer: D

o Watch Video Solution

3. Which of the following is also called as nitrogen

sesquioxide?

A. N,O4


https://dl.doubtnut.com/l/_BrBkSfrOOTO2
https://dl.doubtnut.com/l/_CvtZR8Q78Rik

B. NO,

C. N,Oy

D. N205

Answer: A

o Watch Video Solution

4. Which acid is formed when P,(0O3 dissolve in

water ?

A H;PO,

B. H; PO4


https://dl.doubtnut.com/l/_CvtZR8Q78Rik
https://dl.doubtnut.com/l/_WoYf54XLk94Q

c. HPO;

D. H,P,O-

Answer: B

° Watch Video Solution

5. is used in estimation of iodine number

of fats and oils .

AT,

B. ICI

c.ICI,


https://dl.doubtnut.com/l/_WoYf54XLk94Q
https://dl.doubtnut.com/l/_tqGSmhj73hkM

D. IF,

Answer: B

° Watch Video Solution

6. The m bonds in SO, molecule arises due to

overlap.

B.pm — pmr and o

C.pm — dmw and pm — pr

D.only pr — dm


https://dl.doubtnut.com/l/_tqGSmhj73hkM
https://dl.doubtnut.com/l/_fgkpc1rPOWbD

Answer: C

o Watch Video Solution

— NaCl
— H,0
7.Cly;, NaOH —— X
(cold and dilute)
— NaCl
— Hy0

Cl, + NaOH — Y

(Hot and concentrated)

In these reactions, X and Y are

A. NaOCl and NaClOs

B. NaCl3; and NaOCI

C. HOCIl and HOCIO;

D. HOCl; and HOC!

respectively.



https://dl.doubtnut.com/l/_fgkpc1rPOWbD
https://dl.doubtnut.com/l/_i7hWAU6N6JYv

Answer: A

° Watch Video Solution

8. The increasing order of acidity of the following is

A. H2S < HgSe < H2T€

B.HQSB < HQS < H2T6

C. H2T€ < H2S < H2S€

D. HQSB < HzTe < HzS

Answer: A



https://dl.doubtnut.com/l/_i7hWAU6N6JYv
https://dl.doubtnut.com/l/_pZoCfrmf1smd

| ) View Text Solution

9. Which of the following is the most suitable drying

agent for ammonia gas ?

A. Anhydrous calcium chloride

B. Conc. Sulphuric acid

C. Calcium oxide

D. Phosphorus pentaoxide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pZoCfrmf1smd
https://dl.doubtnut.com/l/_l5Rt7NuqEzzz
https://dl.doubtnut.com/l/_l96dKUHWJhRt

10. Which blue liquid is obtained on reacting

equimolar amounts of two gases at —30° C?

A. N,O

B. N,Os

C. N>,Oy

D. N205

Answer: B

o Watch Video Solution

11. Which one is CORRECT statement ?


https://dl.doubtnut.com/l/_l96dKUHWJhRt
https://dl.doubtnut.com/l/_Rv3WNntLqrJg

A. Basicity of H3PO,

respectively.

B. Basicity of H3PO,

respectively.

C. Basicity of H3PO,

respectively.

D. Basicity of H3PO,

respectively.

Answer: D

and H3PO;

and H3POs;

and H3PO;

and H3PO;

is 3 and 3

is 2 and 1

is 2 and 2

is 3 and 2

o View Text Solution



https://dl.doubtnut.com/l/_Rv3WNntLqrJg
https://dl.doubtnut.com/l/_a3xYQgqwAiE4

12. Metal halide which is insoluble in water is

A. Agl

B. KBr

C. CaCl2

D. AgF

Answer: A

° Watch Video Solution

13. Which of the following properties does

correspond to the order?



https://dl.doubtnut.com/l/_a3xYQgqwAiE4
https://dl.doubtnut.com/l/_HgqfxYoBibgq

HI < HBr < HCl < HF

A. Only thermal stability

B. Only reducing character

C. Only bond dissociation enthaply

D. Both bond dissociation enthalpy and thermal

stability

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HgqfxYoBibgq

14. White phosphorus on reaction with NaOH

gives PHj as one of the products. This is a

A. dimerization

B. disproportionation

C. condensation

D. precipitation

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dMuXq9MClOmv

15. Which of the following oxides of notrogen is

paramagnetic ?

A. N;O

B. N205

C. NO,

D. N,O,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ROid0EGmEjTQ

16. In group 15 elements , due to inert pair effect ,

the stability of on moving down the group .

A. +3 oxidation state decreases and +5

oxidation state increases

B.+5 oxidation state decreases and +3

oxidation state increases.

C.+3 and + 5 oxidation states decrease

D. +3 and + 5 oxidation states increase

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3jHGhLDrbrnj

17. In which of the following reaction V505 is used

at catalyst ?

A.S—|—02—>302

B.2505 + Oy — 2503

C. 503 + H2O — H2SO4

D. 2502 + 02 + 2H20 — 2H2504

Answer: B

° Watch Video Solution

18. Which of the following is the least volatile ?


https://dl.doubtnut.com/l/_5lq6qi2LDWO0
https://dl.doubtnut.com/l/_5FC9hc3NxyhH

A. HF

B. HCI

C. HI

D. HBr

Answer: A

° Watch Video Solution

19. The correct order of the thermal stability of

hydrogen halides (H — X) is

A.HI > HBr > HCl > HF


https://dl.doubtnut.com/l/_5FC9hc3NxyhH
https://dl.doubtnut.com/l/_lNUxXHBon5MB

B.HF > HCl > HBr > HI

C.HCl > HF > HBr > HI

D.HI > HCl > HF > HBr

Answer: B

° Watch Video Solution

20.The order of solubility of noble gases in water is

A.He > Ne > Ar > Kr > Xe

B. Ne > Ar > Kr > He > Xe

C.Xe > Kr > Ar > Ne > He


https://dl.doubtnut.com/l/_lNUxXHBon5MB
https://dl.doubtnut.com/l/_vrMAJ8UFFk0s

D.Ar > Ne > He > Kr > Xe

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vrMAJ8UFFk0s

